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�D>64F< DG=>F<>=4?L=O5 <54<F<=E><5 <>45?< DB-11A < E-45A 

?D><76>4EF64 %M5M= �4=FO= �54<>4? �7G<?<5=F �4=GD4>FGD<=7 %>.,�&�, �<F4= 

�47=4G5=<5 <745?<O. 
�D>64F< DG=>F<>=4?L=O5 <54<F<=E><5 <5E4=<G5E><5 < M?5>FD<G5E><5 ?D54=47=4G5=O 4?O GE>44 74 
5>?L=O<<, >>474=<O D<7<>F5D4?56F<G5E>>= ?><>M< < <E?>?L7>64=<O >4> 6 GE?>6<OE EF4F<>=4D4, 6 
F>< G<E?5 D54=<<4F<>==OE >F45?5=<OE, F4> < =4 4><G. �>65 >D>64F< E>EF><F <7 =5E>>?L><E E5>F<=, 
>4644O <7 >>F>DOE ?>46<6=4. � 746<E<<>EF< >F <>45?< >D>64FL <>65F <<5FL DG=>F<< 
?>4N5<4/>?GE>4=<O E5>F<= E?<=O, 5545D, 5>>>6>7> ?5D56>D4G<64=<O, 5>>>6>= 4=4F><<G5E>>= 
?>445D6><, DG=>F<< <7<5=5=<O 6OE>FO ?>64 >F=>E<F5?L=> ?>?4 < G?D46?5=<O D45>F>= FG4?5F=>7> 
GEFD>=EF64. �?F<>=4?L=> 4>EFG?5= 4>>G<G?OF>D =4 E?GG4= 6>7<>6=OE E5>56 6 M?5>FD>E=4565=<<. 
1. �>=EFDG>F<O >D>64F<: 
$4<4 <745?<O 6O?>?=5=4 <7 EF4?L=>7> ?D>D<?O < ?>>DOF4 G44D>?D>G=>= M?>>E<4=>= M<4?LN.  
&>DF56O5 >7D4645=<O (<77>?>6L5 < <7=>6L5) >D>64F< ?57>>EN5<=O5, <>7GF 5OFL 6O?>?=5=O >4> <7 
??4EF<>4 (6 F>< G<E?5, E> EF4?L=>= FDG5>= </<?< 45>>D4F<6=O<< 6EF46>4<<), 4 F4> 65  <7 ��%� </<?< 
<4EE<64 =4FGD4?L=>= 4D565E<=O E <O7>>= >5<6>>= E?<=>> <?< 557 =55.  
�=<<4=<5! �FF5=>< F65F>6 <77>?>6<= < <7=>6<=, <77>F>6?5==OE <7 =4FGD4?L=>= 4D565E<=O, <>7GF 
=5E>>?L>> >F?<G4FLEO. 
�>?5E4, 6 746<E<<>EF< >F <>45?< < FD55>64=<= 74>47G<>4, <>7GF 5OFL >4<=4D=O<< <?< E46>5==O<<, 
<<5NF L<=O <7 ?>?<GD5F4=4 < >E=4M5=O <=4<6<4G4?L=O<< F>D<>74<<. �464>5 >>?5E> O6?O5FEO 
E4<>>D<5=F<DGNM<<EO, E 6>7<>6=>EFLN ?>6>D>F4 =4 360º. 
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2. %5>D>4 < ?>47>F>6>4 > M>E??G4F4F<< 

�?O G4>5EF64 ED4=5=<O < FD4=E?>DF<D>6>< >D>64FL ?>EF46?O5FEO 6 D47>5D4==>< 6<45,  ?5D54 =4G4?>< 
M>E??G4F4F<< >D>64FL FD55G5FEO E>5D4FL. 
%?54GO 44==>= <=EFDG>F<<, ?>?L7>64F5?< <>7GF >EGM5EF6?OFL E5>D>G E4<>EF>OF5?L=>, => 
<77>F>6<F5?L D5>><5=4G5F 4>65D<FL MFG D45>FG >64?<D<F<D>64==O< E?5F<4?<EF4<. 
�=<<4=<5! �=EFDG<5=FO 4?O E5>D>< 6 >><??5>F ?>EF46>< =5 6E>4OF. 
 

2.1. %5>D>4  >D>64F<  
(4?O <>45?5= �-45A <  DB-11A) 
2.1.1.  �F>D>=F5 >>D>5>G, E=<<<F5 G?4>>6>G. �?O ?>E?54GNM<E >?5D4F<= 6E>DO64FL G?4>>6>G G4>5=55 
F4><< >5D47><, GF>5O >D>64FL ?564?4 ?>65< 665DE.   

                                                 
 

2.1.2 �>65 >D>64F< 4>>GD4F=> ?>EF46LF5 =4 5>>. �76?5><F5 ?D<=44?56=>EF< < ?D>65DLF5 >><??5>F4F<N 
>D>64F< (E<>FD<F5 ?G=>F 7 =4EF>OM57> ?4E?>DF4). 

           
                           
�=<<4=<5! �5 <E?>?L7G=F5 4?O 6E>DOF<O G?4>>6>< >EFDO5 ?D54<5FO 6> <75564=<5 ?>?GG5=<O FD46< < 
?D<G<=5=<O 6D544 45F4?O< <745?<O. 
 

 

                                                                                       
2.1.3 �?O <>45?5= DB-11A < �-45A  E >>?UE4<<. 
�>DGF<F5 >E< >>?UE 6 =<6=<5 D57L5>6O5 
>F65DEF<O =>6=OE >?>D. 'F>5O >>?5E> ?D< 
6>DGG<64=<< =5 ?D>6>D4G<64?>EL, 745?>><DG=F5 
57>, =4646 =4 DOG47 F>D<>74. �>DGF<F5 >>?5E> 
4> G?>D4, =5 ?D<?474O 5>?LL<E GE<?<=, ?>E?5 
G57> >5O74F5?L=> =44U6=> 74FO=<F5 74=>G =4 
>E< >?NG>< (>?NG 6 >><??5>F =5 6E>4<F). 
                                



3 

 

              
                                
2.1.4 �5 D475?>><DGO F>D<>7>6 >>?5E, ?5D565D=<F5 >D>64FL < ?>EF46LF5 55 =4 =>6>< (=4 >>?5E4).  
�=<<4=<5! $<E> FD46<<D>64=<O.  �?O 44==>= >?5D4F<< FD55G5FEO =5 <5=55 2-E G5?>65>. 
 

                
2.1.5. �?O <>45?< DB-11A: �>4>?NG<F5 >D>64FL > M?5>FD>E5F< < ?D>65DLF5 
?D46<?L=>EFL ?>4>?NG5=<O >455?5= ?<F4=<O M?5>FD<G5E><E ?D<6>4>6 > 5?>>G 
G?D46?5=<O, =46<<4O =4 ?G?LF5 >=>?>< ?>4=OF<O/ >?GE>4=<O E5>F<= < 5>>>6>7> 
?5D56>D4G<64=<O. (�G?LF >E=4MU= <=FG<F<6=> ?>=OF=O<< ?<>F>7D4<<4<<).  
 

2.1.6. $57G?<D>6>4 FG4?5F=>7> GEFD>=EF64 (?D><76>4<FEO ?D< =5>5E>4<<>EF<): 
 

 

2.1.6.1.  �?O <>45?5= DB-11A <  �-45�  E <5E4=<G5E><< <?< M?5>FD<G5E><< ?D<6>4>< FG4?5F=>7> 
GEFD>=EF64 < FG4?5F=O< EG4=>< 557 >DOL><: 
�) 'EF4=>6<F5 EG4=> =4 ?5D546<6=GN ??4FD>D<G FG4?5F=>7> GEFD>=EF64 < ?D>65DLF5 D45>FG 
<5E4=<7<4, =46<<4O =4 >=>?>< >F>DOF<O < 74>DOF<O FG4?5F4 =4 ?G?LF5 G?D46?5=<O. 
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�) �D< =5>5E>4<<>EF< >FD57G?<DG=F5 E>4 FG4?5F=>= E5>F<<: <76?5><F5 L??<=F =4 >>=F5 FO7< 
FG4?5F=>= E5>F<<, 6O654<F5 FO7G <7 74F5??5=<O E ??4EF<=>= ?>6>D>F=>= FDG5O  < 6>DGG<64=F5 <?< 
6O>DGG<64=F5 5U 4?O D57G?<D>6>< ??>F=>7> 74>DOF<O FG4?5F=>= E5>F<<. �>5<6L<EL =G6=>7> 
?>?>65=<O, E=>64 6EF46LF5 >>=5F FO7< 6 >F65DEF<5 ??4EF<=O ?>6>D>F=>= FDG5O < 74L??<=FG=F5 57>.  
 

 
 
 

               
2.1.6.3.  �?O <>45?5= DB-11A  E M?5>FD<G5E><< ?D<6>4>< FG4?5F=>7> GEFD>=EF64 < FG4?5F=O< EG4=>< E 
>DOL>>= (xBIO): 
 

 
�) 'EF4=>6<F5 EG4=> E >DOL>>=, =4 >>F>D>= 74>D5??5= >DNG>>, =4 ?5D546<6=GN ??4FD>D<G 
FG4?5F=>7> GEFD>=EF64 (F/G). �D< GEF4=>6>5 EG4=4 E >DOL>>= >DNG>> 4>?65= 5OFL =4?D46?5= 6?5D54, 
GF> >55E?5G<F 57> 74F5??5=<5 E >>?LF>< =4 <5E4=<7<5 ?>4N5<4 >DOL><. 
�) �46<<4O E>>F65FEF6GNM<5 >=>?>< =4 ?G?LF5 G?D46?5=<O, G554<F5EL 6 F><, GF> F/G D45>F45F 
>>DD5>F=>. �D< =464F<< >=>?>< «�F>DOFL FG4?5F» FG4?5F=O= ?NG>> 6 ?>65 >D>64F< >F>DO645FEO, 
>DOL>4 FG4?5F=>7> EG4=4 ?>4=<<45FEO, EG4=> ?5D5<5M45FEO > FG4?5F=><G >F65DEF<N, 4 ?D< =464F<< 
>=>?>< «�4>DOFL FG4?5F» EG4=> 6>76D4M45FEO 6 <EE>4=>5 ?>?>65=<5.  
�) � E?GG45 5E?< >DOL>4 FG4?5F=>7> EG4=4 74>DO645FEO E ?5D5>>E>< <?< E =5??>F=O< ?D<?574=<5< > 
=5<G, =5>5E>4<<> E45?4FL ?D>EFO5 D57G?<D>6><. 
�>7<>6=O5 ?D<G<=O < E?>E>5O <E GEFD4=5=<O: 
- ??4FD>D<4 F/G =5 4>E>4<F <?< ?5D5<5M45FEO 44?LL5 <EE>4=>7> ?>?>65=<O: =5>5E>4<<> 
>FD57G?<D>64FL G?>DO =4 =4?D46?ONM<E ?5D5<5M5=<O ??4FD>D<O; 
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->DOL>4 FG4?5F=>7> EG4=4 =5 4> >>=F4 >?GE>45FEO =4 EG4=>: =5>5E>4<<> >FD57G?<D>64FL  ?> 6OE>F5 
>DNG>>, GEF4=>6?5==O= =4 >DOL>5 EG4=4 (747>D <564G >DNG>>< < >>?LF>< 4>?65= 5OFL =5 5>?55 3 
<<); 
 

 

                  
 

 

 

->DOL>4 FG4?5F=>7> EG4=4 ?D< 74>DO64=<< 
?>6<FEO E ?5D5>>E>< =4 ?D46O= <?< ?56O= 
>D4=  EG4=4: =5>5E>4<<> >FF5=FD<D>64FL 
?>?>65=<5 >>?LF4, 74 >>F>D>5 F5??O5FEO 
>DNG>> >DOL>< FG4?5F=>7> EG4=4; 
 

 

 

 

 

 

 

 

 

 

->DOL>4 FG4?5F=>7> EG4=4 ?>4=<<45FEO =5 4>EF4F>G=> 6OE>>> < ?D5?OFEF6G5F ?5D5<5M5=<N EG4=4 =4 
??4FD>D<5 > >F>DOF>= FG4?5F=>= E5>F<<: =5>5E>4<<> ?D>65D<FL < (?D< =5>5E>4<<>EF< 
>FD57G?<D>64FL) 747>D <564G >DNG>>< >DOL>< EG4=4 < >>?LF>< (747>D - =5 5>?55 3<<, E<.D>F> 6OL5) 
<?< >FD57G?<D>64FL GEFD>=EF6>, >F65G4NM55 74 ?>4N5< DOG474, =4 >>F>D>< GEF4=>6?5=> 74F5?=>5 
>>?LF> 4?O ?>4N5<4 >DOL>< FG4?5F=>7> EG4=4 
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2.1.7. 'EF4=>6>4 <77>?>6LO < <7=>6LO (4?O <>45?5= �-45� < DB-11�) 
 

�?O GEF4=>6>< 5OEFD>ENU<=OE <77>?>6LO < 
<7=>6LO E?G64F 74F5?=O5 LFOD<, 
GEF4=>6?5==O5 =4 G7?4E D4<O >D>64F<. � 
746<E<<>EF< >F FD55>64=<= 74>47G<>4 >=< 
<>7GF 5OFL >4> ENU<=O5, F4> < =5ENU<=O5. 
�E?< >D>64FL G>><??5>F>64=4 ENU<=O<< 
>?>D=O<< LFODO<< (>?F<O), F> ?5D54 
GEF4=>6>>= <77>?>6LO < <7=>6LO ?D<>DGF<F5 
<E 5>?F4<<, 6E>4OM<<< 6 >><??5>F 
?>EF46><, > F>DFG D4<O >D>64F< 6 
<<5NM<5EO >F65DEF<O, 6 E>>F65FEF6<< E 
F<?>< <77>?>6LO <?< <7=>6LO.  
 

 

 

                                                            
 

 

'EF4=>6<F5 5OEFD>EN5<=O5 >D>=LF5==O =4 <77>?>6L5 < <7=>6L5, (6 E?GG45 5E?< >=< EN5<=O5) 
<E?>?L7GO >D5?56, 6E>4OM<= 6 >><??5>F ?>EF46><: 
 

 

                          
 

 

'EF4=>6<F5 =4 74F5?=O5 LFOD< <77>?>6L5 < <7=>6L5 >D>64F<, 
?D5464D<F5?L=> ?>4=O6 D?46>< D<>E4F>D>6.                                                                                                        
�?GE>4O D<>E4F>DO, 6O 5?>><DG5F5 <77>?>6L5 < <7=>6L5 
>D>64F<, >F <E E?GG4==>7> E=OF<O. 
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2.1.8. 'EF4=>6>4 4>?>?=<F5?L=>7> >5>DG4>64=<O 
(4?O <>45?5= �-45� < DB-11�) 

� 746<E<<>EF< >F FD55>64=<= 74>47G<>4 >D>64FL <>65F 5OFL G>><??5>F>64=4 5>>>6O<< >7D4645=<O<<, 
4G7>= 4?O ?>4FO7<64=<O, FD4=EDG7<>==>= EF>=>>=, ?D<>D>64F=O< </<?< =4>D>64F=O< EF>?<>>< < 
?D>G<<< 4>E5EEG4D4<<.  
        
2.1.8.1 �4>D5?<F5 5>>>6O5 >7D4645=<O (>?F<O) > D4<5 >D>64F< <<5NM<<<EO 5>?F4<< >D5??5=<O. 
�>>>6O5 >7D4645=<O E?54G5F GEF4=46?<64FL 74<>>< 5?>><D>6>< E 7>?>6=>= EF>D>=O >D>64F<, E>FO 
>>=EFDG>F<5= 4>?GE>45FEO GEF4=>6>4 < >5D4F=O< E?>E>5><. 
                                                                 

                    
 

 

 

                                                                              
 2.1.8.2 �EF46LF5 4G7G 4?O ?>4FO7<64=<O (>?F<O) < 
FD4=EDG7<>==GN EF>=>G (>?F<O) 6 E>>F65FEF6GNM<5 
>F65DEF<5, D4E?>?>65==O5 6 F>DF56OE GG4EF>4E D4<O 
>D>64F<. �F65DEF<O 4?O FD4=EDG7<>==>= EF>=>< <>7GF 
<<5FL ??4EF<>>6O5 6EF46><-EF4>4=O (>?F<O). �G74 4?O 
?>4FO7<64=<O D<>E<DG5FEO 6<=F>< 54D4L>>6>7> F<?4 E 
6=GFD5==5= EF>D>=O D4<O >D>64F< <?< 6<=F>< E=<7G (6 
746<E<<>EF< >F <>45?<). &D4=EDG7<>==4O EF>=>4 
D<>E<DG5FEO 6 <5F4??<G5E>>< <?< ??4EF<>>6>< EF4>4=5 
74 EGUF ??>F=>= ?>E44>< ?<5> 6<=F>< E=<7G (6 
746<E<<>EF< >F <>45?<). 
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2.1.9 �>47>F>6>4 > M>E??G4F4F<< 
(4?O <>45?5= �-45� < DB-11�) 
�5D54 =4G4?>< M>E??G4F4F<< >5D45>F4=F5 ?>65DE=>EFL <745?<O 457<=D<F<DGNM<< D4EF6>D>< <?< 
?D>FD<F5 6?46=>= F>4=LN. '554<F5EL, GF> 6E5 E>54<=<F5?L=O5 M?5<5=FO =4456=> 74>D5??5=O. 
�D>64FL 7>F>64 > M>E??G4F4F<<.  
 

3.  ->E??G4F4F<O  
(4?O <>45?5= �-45� < DB-11�) 
 

3.1. �D>64F< ?D54=47=4G5=O 4?O D47<5M5=<O ?4F<5=F4 6 ?>?>65=<< ?U64, E<4O, ?>?GE<4O. �?O 6O5>D4 
=5>5E>4<<>7> ?>?>65=<O ?>64 >D>64F< >E=4M5=O <5E4=<G5E><<< <?< M?5>FD<G5E><<< ?D<6>44<<.  
�=<<4=<5! �O5>D =5>5E>4<<>7> ?>?>65=<O ?4F<5=F4 4>?65= >?D545?OFL >64?<D<F<D>64==O= 
<54<F<=E><= ?5DE>=4?. 
 

3.2. �77>?>6L5 < <7=>6L5 ?57>>ENU<=O5, 4?O G4>5EF64 ?D>6545=<O =5>5E>4<<OE ?4F<5=FG ?D>F54GD. 
�?O E=OF<O <77>?>6LO </<?< <7=>6LO ?>4=<<<F5 D?46>> D<>E4F>D4 < E=<<<F5 <E E 74F5?=OE LFOD5=.  

                   
 

 

3.3. �?O <>45?5= �-45�: 
�E?< ?4F<5=F E>G5F 6>E?>?L7>64FLEO FG4?5F=O< GEFD>=EF6>< E4<>EF>OF5?L=> (F>?L>> 4?O <>45?5= E 
<5E4=<G5E><< FG4?5F=O< GEFD>=EF6><), =5 ?D<5574O > ?><>M< 4DG7<E ?<F, =5>5E>4<<> 6EF46<FL 
DGG>G G?D46?5=<O FG4?5F=O< GEFD>=EF6><  6 >F65DEF<5, D4E?>?>65==>5 E65DEG E ?56>= EF>D>=O  ?>64 
>D>64F<. �>65D=<F5 DOG47 4?O 4>EF<65=<O =G6=>7> ?>?>65=<O FG4?5F=>7> GEFD>=EF64 (>F>DOF> <?< 
74>DOF>).    
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3.4 �?O <>45?5= DB-11A: 
�4 E?GG4= >F>?NG5=<O M?5>FD>?<F4=<O >D>64FL <>45?< DB-

11� >E=4M5=4 7<5D<4=O<< ?D<6>44<<. �?O <E?>?L7>64=<O 
?D<6>44 6 DGG=>< D56<<5 >F>?NG<F5 M?5>FD>?<F4=<5 >F E5F<. 
%=<<<F5 ??4EF<>>6GN 747?GL>G =4 F>DF56>= G4EF< ?<=5==>7> 
4>FG4F>D4,  6EF46LF5 6 >F65DEF<5 4>FG4F>D4 DGG>G 7<5D<4=>7> 
?D<6>44 < 6D4M4=F5 55 ?> G4E>6>= <?< ?D>F<6 G4E>6>= 
EFD5?>< 4> 4>EF<65=<O =G6=>7> ?4F<5=FG ?>?>65=<O.  
�=<<4=<5! �5D54 GEF4=>6>>= DGG>< 7<5D<4=>7> ?D<6>44 
6O=LF5 6<?>G >455?O ?<F4=<O <7 D>75F><. �> >>>=G4=<< 
<E?>?L7>64=<O, ?>E?5 <76?5G5=<O DGG><, E?54G5F 65D=GFL 
747?GL>G =4 <5EF>, 6> <75564=<5 ?>?444=<O ?>EF>D>==<E 
?D54<5F>6 < 6<4>>EF5= 6=GFDL  4>FG4F>D4. �>4>?NG<F5 M?5>FD>?<F4=<5 E5F<.  
 

                                                                                   
3.5 �E?>?L7>64=<5 DG=>F<< «5>>>6>5 ?5D56>D4G<64=<5» (4?O <>45?5= �-45� < DB-11�) 
 

�=<<4=<5! $<E> ?>6D5645=<O >5>DG4>64=<O! 
�5D54 =4G4?>< <E?>?L7>64=<O DG=>F<< «5>>>6>5 ?5D56>D4G<64=<5» G554<F5EL, GF> 6E5 E5>F<< ?>64  
=4E>4OFEO 6 7>D<7>=F4?L=>< ?>?>65=<<! 
 

                         
 

 

 

                
�5D54 ?>4N5<>< E5>F<< E?<=O G554<F5EL, GF> E5>F<< 5>>>6>7> ?5D56>D4G<64=<O =4E>4OFEO 6 
7>D<7>=F4?L=>< ?>?>65=<<! 
�4?D5M45FEO <E?>?L7>64FL DG=>F<< 5>>>6>7> ?5D56>D4G<64=<O < ?>4N5<4 E5>F<< E?<=O 
>4=>6D5<5==>! 
 

3.6 �>?GEF<<4O D4E?D545?U==4O =47DG7>4 =4 >D>64FL ?D<6545=4 6 D4745?5 «8. &5E=<G5E><5 
E4D4>F5D<EF<><», >4=4>>, MF> =5 >7=4G45F, GF> ?N54O E5>F<O ?>65<5=F4 E?>E>5=4 6O45D64FL 
G>474==O= 65E. � E>>F65FEF6<< E <5F>4<>>= <E?OF4=<= $�� �<=74D464 $$, 4>?GEF<<4O =47DG7>4 
4>?6=4 5OFL D46=><5D=> D4E?D545?5=4 ?> ??>M44< E5>F<= ?>64 6 E?54GNM5< E>>F=>L5=<<: 45% 4?O 
E5>F<< E?<=O, 25% 4?O E5>F<< F474, 30% 4?O =>6=OE E5>F<=. &4><< >5D47><, 74?D5M5=> 6EF464FL < 
E<45FL =4 >F45?L=> ?>4=OFOE E5>F<OE <?< <=O< >5D47>< ?5D57DG64FL E5>F<< >D>64F<. �>6D5645=<O 
<745?<O, ?>?GG5==O5 6 D57G?LF4F5 ?D56OL5=<O =47DG7><, =5 O6?ONFEO 74D4=F<==O< E?GG45<. 
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3.7 �G74 4?O ?>4FO7<64=<O E?G6<F 4?O ?><>M< ?4F<5=FG E4<>EF>OF5?L=> 
?D<=<<4FL =5>5E>4<<>5 ?>?>65=<5. �=<<4=<5! $<E> ?445=<O. $5L5=<5 
?>?L7>64FLEO 4G7>= 4?O ?>4FO7<64=<O E?54G5F ?D<=<<4FL <=4<6<4G4?L=> 6 
>464>< >>=>D5F=>< E?GG45.  
�G74 4?O ?>4FO7<64=<O <>65F 5OFL GEF4=>6?5=4 E ?D46>= <?< ?56>= EF>D>=O 
7>?>6=>= G4EF< >D>64F<. 
�=<<4=<5! �5D54 M>E??G4F4F<5= 4G7< 4?O ?>4FO7<64=<O G554<F5EL, GF> >=4 
=4456=> 74D<>E<D>64=4 =4 D4<5 >D>64F< < =5 ?>6>D4G<645FEO ?>4 =47DG7>>=. 
  
   
 

3.8 &D4=EDG7<>==4O EF>=>4 <>65F GEF4=46?<64FLEO 6 ?N5>5 <7 2-E 
F5E=>?>7<G5E><E >F65DEF<= 6 7>?>6=>= G4EF< D4<O >D>64F<. 
%F>=>4 >E=4M5=4 45D64F5?O<< MD7>=><<G=>= D>D<O (>F 2-E 4> 4-

E LF., 6 746<E<<>EF< >F <>45?<), ?>76>?ONM<<< ?57>> < =4456=> 
GEF4=46?<64FL < <5=OFL ?D>?<E4==O5 ?4F<5=FG ?D5?4D4FO. 
�=<<4=<5! �4>E<<4?L=> 4>?GEF<<4O 65DF<>4?L=4O =47DG7>4 =4 1 
>DNG>> - =5 5>?55 1,0 >7, => =5 5>?55 4,0 >7 D46=><5D=> 
D4E?D545?5==>= EG<<4D=>= =47DG7>< =4 FD4=EDG7<>==GN EF>=>G 6 
F5?><. 
  
 

3.9. �>>>6O5 >7D4645=<O D<>E<DGNFEO 46F><4F<G5E>< ?D< 
?>4NU<5 6 >D4==55 65DE=55 ?>?>65=<5. �4<>> 5?>><D>6>< <744UF 
?D< MF>< E4D4>F5D=O= M5?G>>. 
�=<<4=<5! $<E> ?445=<O. �E?< M5?G>> =5 ?D>76GG4?, MF> >7=4G45F, 
GF> 5>>>6>5 >7D4645=<5 =5 74D<>E<D>64=>, < <>65F >?GEF<FLEO. �4F<5=F <>65F G?4EFL E >D>64F<. 
�E?< 5>>>6>5 >7D4645=<5 ?5D5EF4?> D<>E<D>64FLEO, E?54G5F 6O764FL E?5F<4?<EF4 4?O ?D>6545=<O 
F5E=<G5E>>7> >5E?G6<64=<O <?< >5D4F<FLEO 6 E5D6<E=O= F5=FD 4?O GEFD4=5=<O =5<E?D46=>EF<.  
$4ED<>E4F<O 74<>4 ?D><76>4<FEO =464F<5< =4 DOG47, ?>E?5 G57> 5>>>6O5 >7D4645=<O E>?44O64NFEO 
4> =<6=57> ?>?>65=<O. 

 

 

 

 

 

 

 

 

 

 

 

 

�=<<4=<5! �5 <E?>?L7G=F5 5>>>6O5 >7D4645=<O 6 >4G5EF65 >?>DO. �4>E<<4?L=> 4>?GEF<<4O =47DG7>4 
6  65DF<>4?L=>< < 7>D<7>=F4?L=>< =4?D46?5=<< - =5 5>?55 15 >7.         
                    
3.10 �D<>D>64F=O= EF>?<> (>?F<O) GEF4=46?<645FEO E 
?N5>= EF>D>=O >D>64F<. �4>D>64F=O=  EF>?<> 
GEF4=46?<645FEO =4 ?>4=OFO5 6 65DE=55 ?>?>65=<5 
5>>>6O5 >7D4645=<O 6 ?N5>< G4>5=>< 4?O ?4F<5=F4 <5EF5. 
�4>E<<4?L=> 4>?GEF<<4O =47DG7>4 =4 ?D<>D>64F=O= < 
=4>D>64F=O= EF>?<>< E>EF46?O5F 5 >7. 
                                                                                     
 



11 

 

3.11. �>DO4>> 6>7>5=>6?5=<O M>E??G4F4F<< >D>64F< ?>E?5 DGG=>7> 6D4M5=<O M?5>FD<G5E><E 
4>FG4F>D>6 DGG>>= 7<5D<4=>7> ?D<6>44 (4?O <>45?5= DB-11A) 
�?O G4>5EF64 ?>?L7>64F5?5= >D>64F< <>45?< DB-11� E=4565=O 7<5D<4=O<< ?D<6>44<<. -F> ?>76>?O5F 
?D>4>?64FL <E?>?L7>64=<5 DG=>F<>=4?4 >D>64F< 6 M>EFD5==>< E?GG45 ?D5>D4M5=<O ?>44G< 
M?5>FD>?<F4=<O. �4=4>> <5E4=<G5E>>5 6D4M5=<5 >4=>7> <?< =5E>>?L><E M?5>FD<G5E><E ?D<6>4>6 6 
>FEGFEF6<5 M?5>FD>?<F4=<O E5<645F =4EFD>=>< 557>?4E=>EF< 5?>>4 G?D46?5=<O, 5?>><DGNM<5 
=5>>DD5>F=>5 6O?>?=5=<5 >><4=4 E ?G?LF4 G?D46?5=<O, E?>E>5=OE ?D<65EF< > ?>6D5645=<N 
>5>DG4>64=<O (=4?D<<5D, =5?L7O ?>4=OFL E5>F<N E?<=O ?D< ?>4=OFOE E5>F<OE 5>>>6>7> 
?5D56>D4G<64=<O). �?O 6>EEF4=>6?5=<O =4EFD>5> =5>5E>4<<> E?54>64FL >?D545?5==><G ?>DO4>G 
45=EF6<=: 
 

�) �E?>?L7GO DGG>G 7<5D<4=>7> ?D<6>44, ?D<654<F5 6E5 E5>F<< ?>64 6 7>D<7>=F4?L=>5 ?>?>65=<5 
(�=<<4=<5! �5E>5?N45=<5 44==>7> FD55>64=<O <>65F ?D<65EF< > ?>?><>5 >5>DG4>64=<O).  
�) �EF46LF5 6<?>G >455?O M?5>FD>?<F4=<O 6 D>75F>G.  
�) �46<<F5 =4 >=>?>G «� >D>64FL» (?<>F>7D4<<4 E 7>D<7>=F4?L=> ?564M<< G5?>65>><) =4 ?G?LF5 
G?D46?5=<O < G45D6<64=F5 5U =5 <5=55 5 E5>G=4 (�=<<4=<5! �5 =46<<4=F5 4DG7<E >=>?>> =4 ?G?LF5 
4> =464F<O =4 >=>?>G "� >D>64FL". �5E>5?N45=<5 44==>7> FD55>64=<O ?D< 6>7>5=>6?5=<< 
M>E??G4F4F<< ?>E?5 DGG=>7> 6D4M5=<O M?5>FD<G5E><E ?D<6>4>6 <>65F ?D<65EF< > ?>?><>5 
>5>DG4>64=<O)  
�) �>64<F5EL, >>744 ?D5>D4F<FEO 46<65=<5 6E5E E5>F<= >D>64F<  

�) �D>64FL 7>F>64 > =>D<4?L=>= M>E??G4F4F<< 

 

�=<<4=<5! $<E> ?>6D5645=<O >5>DG4>64=<O! 
�>?><>4 >5>DG4>64=<O ?> ?D<G<=5 =5 E>5?N45=<O G>474==>7> 6OL5 ?>DO4>4 45=EF6<= =5 O6?O5FEO 
74D4=F<==O< E?GG45<. � E?GG45 =56>7<>6=>EF< 6O?>?=<FL G>474==O5 45=EF6<O,  =574<54?<F5?L=> 
?D5>D4F<F5 M>E??G4F4F<N <745?<O < >5D4F<F5EL 6 E5D6<E=O= F5=FD ��� «�54F5E=<>4 �>E>64» <?< 
<=>= E5DF<D<F<D>64==O= F5=FD 

 

�$���'����:  
" �D><76>4<F5?L >EF46?O5F 74 E>5>= ?D46> <7<5=<FL >>=EFDG>F<N, F5E=<G5E><5 E4D4>F5D<EF<><, 
6=5L=<= 6<4, >><??5>F4F<N F>64D4 557 ?D5464D<F5?L=>7> G654><?5=<O ?D>446F4 < ?>>G?4F5?O. 
" �??NEFD4F<<, ?D<6545==O5 6 44==>< ?4E?>DF5, =>EOF <=D>D<4F<>==O= E4D4>F5D < O6?ONFEO 
>D<5=F<D>6>G=O<<.  �><??5>F4F<O < 6<4 <745?<O <>7GF >F?<G4FLEO >F ?D<6545==OE =4 D>F> 

�=<<4=<5! �E?< <745?<5 ?5D5EF4?> DG=>F<>=<D>64FL, </<?< ?5DE>=4? =5 <>65F >EGM5EF6?OFL 
>>=FD>?L ?D< ?><>M< ?G?LF4 G?D46?5=<O, =574<54?<F5?L=> ?D5>D4F<F5 M>E??G4F4F<N < >5D4F<F5EL 6 
E5D6<E=O= F5=FD ��� «�54F5E=<>4 �>E>64» <?< <=>= E5DF<D<F<D>64==O= F5=FD. 
�=<<4=<5! 
1. � ?D>F5EE5 M>E??G4F4F<< <745?<O =5 4>?GE>45FEO M?5>FD><47=<F=>5 6>745=EF6<5 4DG7<E 
GEFD>=EF6, =5 E>>F65FEF6GNM<E &5E=<G5E>><G D57?4<5=FG &4<>65==>7> E>N74 &$ &% 020/2011. 
2. �4?D5M5=4 M>E??G4F4F<O <745?<O, 5E?< 6 ?D>F5EE5 D45>FO 6>7=<>=GF ?>EF>D>==<5 LG<O.  
3. �5 4>?GE>45FEO =4FO7<64=<O, ?5D5E?5EF4 < ?5D5>DGG<64=<O M?5>FD<G5E><E >455?5=, 4 F4>65 
<E?>?L7>64=<5 G4?<=<F5?O, =5 E>>F65FEF6GNM57> =>D<4< M?5>FD>557>?4E=>EF<. 
4. �G?LF, >>744 >= =5 <E?>?L7G5FEO, E?54G5F ?>?>6<FL (?>465E<FL) F4><< >5D47><, GF>5O <75564FL 
57> E4<>?D><76>?L=>7> ?445=<O. 
5. �5 >EF46?O=F5 45F5= 557 ?D<E<>FD4 DO4>< E D45>F4NM<< <745?<5<. 
6. ->E??G4F<D>64FL <745?<5 =5>5E>4<<> E>7?4E=> <=EFDG>F<<.  
7. �464O= D47 ?5D54 <E?>?L7>64=<5< =5>5E>4<<> ?D><76>4<FL >E<>FD <745?<O =4 =4?<G<5 
6<4<<OE 45D5>F>6 < ?>6D5645=<=. �D< >5=4DG65=<< ?>6D5645=<=, 6?<ONM<E =4 557>?4E=>EFL 
M>E??G4F4F<< <745?<O, =574<54?<F5?L=> ?D5>D4F<F5 M>E??G4F4F<N < >5D4F<F5EL 6 E5D6<E=O= F5=FD 
��� «�54F5E=<>4 �>E>64» <?< <=>= E5DF<D<F<D>64==O= F5=FD. 
8. 'F<?<7<D>64FL <745?<5 ?>E?5 >>>=G4=<O ED>>4 E?G65O < G?4>>6>G ?>E?5 E5>D>< =5>5E>4<<> 
E>7?4E=> ?D46<?4< < =>D<4<, ?D54GE<>FD5==O< 74>>=>44F5?LEF6>< EFD4=O M>E??G4F4F<<. 
9. �5 4>?GE>45FEO ?5D5<5M5=<5 >D>64F< 74 5>>>6O5 >7D4645=<O. 
10. �5 4>?GE>45FEO ?5D5<5M5=<5 >D>64F< ?D< 745?>><D>64==OE >>?UE4E. 
11. �5 4>?GE>45FEO <E?>?L7>64=<5 >D>64F< 6=5 ?><5M5=<=, ?5D5<5M5=<5 ?> 7DG=FG < 4DG7>= 
=5E>>F65FEF6GNM5= ?>65DE=>EF<. 
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12. �>?5E4 =4 >D>64FOE ?D54=47=4G5=O 4?O <E ?5D5<5M5=<O =4 >>D>F><5 D4EEF>O=<O ?> D>6=><G 
?>?G 6=GFD< ?><5M5=<O, 6 >>F>D>< >=< GEF4=>6?5=O. �E?>?L7>64=<5 >D>64F5= 6 >4G5EF65 >4F4?><, 4?O 
?5D5<5M5=<O <564G ?><5M5=<O<<, ?> >>D<4>D4<, ?5D5>4FO64=<5 >D>64F< G5D57 ?D5?OFEF6<O 
?>D>6>>6>7> F<?4 D4EF5=<645FEO >4> <E?>?L7>64=<5 >D>64F< =5 ?> =47=4G5=<N < <>65F ?>E?G6<FL 
>E=>64=<5< 4?O >F>474 6 74D4=F<==>< D5<>=F5. 
13. � ?D>F5EE5 M>E??G4F4F<< >D>64FL E?54G5F E>45D64FL 6 G<EF>F5 (E<. D4745? 4 =4EF>OM57> 
?4E?>DF4).  
14. �EF464FL =4 >D4==NN =>6=GN E5>F<N 4>?GE>45FEO F>?L>> 6 ?>?>65=<< ?>64 «�4D4<>>D5E?>», 
>>744 D>?<>< E5>F<< >?<D4NFEO =4 ?>?. 
15. �4?D5M45FEO D47<5M5=<5 >4><E-?<5> ?D54<5F>6 <?< >5>DG4>64=<O =4 D4<5 <?< 55 
<E?>?L7>64=<5 6 >4G5EF65 >?>DO 4?O G5?>65>4. 
16. � E?GG45, >>744 =5>5E>4<<> >EF46<FL ?4F<5=F4 557 ?D<E<>FD4, ?>4=<<<F5 5>>>6O5 >7D4645=<O 
< ?D<654<F5 ?>?>65=<5 >D>64F< 6 =G?56GN ?>7<F<N (6E5 E5>F<< ?>64 D4E?>?>65=O 7>D<7>=F4?L=>,  
?>65 >D>64F< >?GM5=> 6 >D4==55 =<6=55 ?>?>65=<5 (?D< =4?<G<< DG=>F<< D57G?<D>6>< 6OE>FO 
?>64)). 
4. �5E?G6<64=<5, G<EF>4 < D5<>=F 

1. %D>> 74D4=F<< E>EF46?O5F 1 7>4. 
2. �E?< <745?<5 4>?7>5 6D5<O =5 <E?>?L7G5FEO, 57> =G6=> ?D>65DOFL =5 D565, G5< D47 6 3 <5EOF4. 
3. �5E4=<G5E><5 ?>46<6=O5 G4EF< <745?<O 4>?6=O >5D454FO64FLEO E<47O64NM<<< 65M5EF64<< 
>464O5 ?>?7>44. 
4. $57G?OD=> ?D>65DO=F5 E<?>6O5 G7?O ?>4NU<=OE <5E4=<7<>6 =4 =4?<G<5 E<47><, E <=F5D64?>< =5 
D565 1 D474 6 2 =545?<. �D< =5>5E>4<<>EF<, => =5 D565, G5< 1 D47 6 6 <5EOF56 E<47O64=F5 
E<47>>= 4MD>7>?L=>= 7?G5>>>7> ?D>=<>=>65=<O. 
5. � E?GG45 >5=4DG65=<O =5<E?D46=>EF5= E<. D4745? 5 =4EF>OM57> ?4E?>DF4. �745?<5, =5<E?D46=>EF< 
>>F>D>7> =5 <>7GF 5OFL GEFD4=5=O ?>?L7>64F5?5<, 4>?6=> 5OFL >F?D46?5=> =4 D5<>=F F5E=<G5E><<< 
E?5F<4?<EF4<< <?< 6>76D4M5=> ?D><76>4<F5?N. 
6. �4?D5M45FEO <E?>?L7>64=<5 <745?<O E ?D<7=4>4<< =5<E?D46=>EF5=. 
7. � ?D>F5EE5 M>E??G4F4F<< <745?<5 E?54G5F E>45D64FL 6 G<EF>F5, E6>56D5<5==> >5D454FO64O 
D4EF6>D4<< <>NM<E ED54EF6 =4 6>4=>= >E=>65 <?< 457<=D<F<DGNM<<< ED54EF64<<.  
�>?GE>45FEO <E?>?L7>64FL <O7><5 <>NM<5 ED54EF64 < 457<=D<F<DGNM<5 E>EF46O, =5 E>45D64M<5 
47D5EE<6=OE E<<<G5E><E 65M5EF6. %>5?N44=F5 <=EFDG>F<< ?D><76>4<F5?O ?> <E?>?L7>64=<N ED54EF64 
<?< E>EF464. 
8. '<EF<FL <745?<5 ?D>F<D>G=O< <4F5D<4?>< (<O7>>= F>4=LN, <<>D>D<5D>=, E4?D5F>4<< < F.?.). 
9. �E?>?L7G=F5 4>EF4F>G=>5, => =5 GD57<5D=>5 >>?<G5EF6> 6>4O </<?< 457<=D<F<DGNM57> E>EF464. 
�D< =5>5E>4<<>EF< G44?<F5 ?<L=55 >>?<G5EF6> 6>4O < E>EF464. '<EF<FL E?54G5F, ?5D5E>4O >F 
=4<<5=55 747DO7=U==OE 45F4?OE <745?<O  >  =4<5>?55 747DO7=U==O<, ?5D<>4<G5E>< ?D><O64O <?< 
74<5=OO ?D>F<D>G=O= <4F5D<4?. 
10. �>E?5 >5D45>F>< G44?<F5 >EF4F>< E>EF464 < 44=F5 <745?<N ?>?=>EFLN 6OE>E=GFL ?5D54 
<E?>?L7>64=<5<. 
�=<<4=<5! �5 <E?>?L7G=F5 6 >4G5EF65 ?D>F<D>G=>7> <4F5D<4?4 45D47<6=O5 < <5F4??<G5E><5 7G5>< < 
<< ?>4>5=O5 ?D<E?>E>5?5=<O, =5 ?D<<5=O=F5 >EFDO5 ?D54<5FO, E?>E>5=O5 =4DGL<FL 74M<F=O= E?>=, 
=4=5EU==O= =4 <745?<5, F.>. MF> <>65F ?D<65EF< > ?>6D5645=<N <745?<O. 
�=<<4=<5! �5 <E?>?L7G=F5 E>EF46O 4?O G<EF>< < 457<=D5>F<<, E>45D64M<5 45D47<6=O5 </<?< 
47D5EE<6=O5 4>546><, E?>E>5=O5 =4DGL<FL 74M<F=O= E?>= <745?<O, F.>. MF> <>65F ?D<65EF< > 57> 
?>6D5645=<N. 
 

5. �>7<>6=O5 =5<E?D46=>EF< < <E GEFD4=5=<5 

�5<E?D46=>EFL �>7<>6=O5  ?D<G<=O %?>E>5  GEFD4=5=<O 

�D< =464F<< =4 >=>?>< ?G?LF4 
G?D46?5=<O M?5>FD<G5E>>= 
>D>64F< E>>F65FEF6GNM<5 
DG=>F<< =5 6O?>?=ONFEO 

�455?L ?<F4=<O =5 6>?NG5= 6 
E5FL 

�>?NG<FL >455?L 6 <EF>G=<> 
?<F4=<O 

�5F ?>44G< =4?DO65=<O 6 E5F< �D>65D<FL =4?DO65=<5 6 E5F< 

�G?LF G?D46?5=<O =5 ?>4>?NG5= 
> 5?>>G G?D46?5=<O 

�D>65D<FL ?>4>?NG5=<5 
>>==5>F>D4 =4 5?>>5 G?D46?5=<O 
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�>==5>F>D ?<=5==>7> 4>FG4F>D4 
?D<6>44 =5 ?>4>?NG5= > 5?>>G 
G?D46?5=<O 

�D>65D<FL ?>4>?NG5=<5 
>>==5>F>D4 =4 5?>>5 G?D46?5=<O 

�G?LF <?< 4>FG4F>D =5<E?D46=O �5D4F<F5EL 6 E5D6<E=O= F5=FD 

�>4NU< E5>F<= D45>F45F =5 6 
E>>F65FEF6<< E ?<>F>7D4<<4<< 
?G?LF4 G?D46?5=<O 
M?5>FD<G5E>>= >D>64F< 

�5D5?GF4=O <5EF4<< 
>>==5>F>DO  ?D>6>4>6 =4 5?>>5 
G?D46?5=<O 

�><5=O=F5 <5EF4<< >>==5>F>DO 
?D>6>4>6 ?<=5==OE 4>FG4F>D>6 
=4 5?>>5 G?D46?5=<O. �E?< =5 
?><>7?>, >5D4F<F5EL 6 
E5D6<E=O= F5=FD  

�>EF>D>==<5 LG<O 6> 6D5<O 
D45>FO ?<=5==>7> 4>FG4F>D4 

�>FG4F>D FD55G5F >5E?G6<64=<O 
<?< 74<5=O 

�=<<4=<5! �5 ?OF4=F5EL 
>FD5<>=F<D>64FL 4>FG4F>D 
E4<>EF>OF5?L=>, >5D4F<F5EL 6 
E5D6<E=O= F5=FD 

-?5>FD>?D<6>4 D45>F45F F>?L>> 
6 >4=>< =4?D46?5=<< 

�5<E?D465= ?G?LF, 4>FG4F>D <?< 
5?>> G?D46?5=<O 

�=<<4=<5! �5 ?OF4=F5EL 
>FD5<>=F<D>64FL 
E4<>EF>OF5?L=>, >5D4F<F5EL 6 
E5D6<E=O= F5=FD 

�D< 6>7>5=>6?5=<< 
M>E??G4F4F<< >D>64F< ?>E?5 
DGG=>7> 6D4M5=<O 
M?5>FD<G5E><E 4>FG4F>D>6 
DGG>>= 7<5D<4=>7> ?D<6>44 (E<. 
?.3.11 ?4E?>DF4) ?G?LF 
G?D46?5=<O =5 D547<DG5F =4 
=464F<5 >=>?>< "� >D>64FL". 
 

�5 6E5 E5>F<< >D>64F< =4E>4OFEO 
6 7>D<7>=F4?L=>< ?>?>65=<< 

 

�F>?NG<F5 >D>64FL >F E5F< 
M?5>FD>?<F4=<O, DGG>>= 
7<5D<4=>7> ?D<6>44 ?>4=<<<F5 
E5>F<< 5>>>6>7>   ?5D56>D4G<-

64=<O ?> >4=>= EF>D>=5 >D>64F< 
665DE 4> >>=F4 (?D>65DLF5, GF> 
6E5 >EF4?L=O5 E5>F<< ?>64 
=4E>4OFEO 6 7>D<7>=F4?L=>< 
?>?>65=<<), ?>4>?NG<F5 >D>64FL 
> E5F< < =46<<F5 =4 >=>?>G "� 
>D>64FL" ?G?LF4. �E?< ?D>5?5<4 
=5 D5L5=4, >5D4F<F5EL 6 
E5D6<E=O= F5=FD. 

�>>>6>5 >7D4645=<5 =5 
D<>E<DG5FEO 6 ?>4=OF>< 
?>?>65=<< 

�5 ED45>F4? 74<>> 5?>><D>6>< 
>7D4645=<O 

�>4=<<<F5 5>>>6>5 >7D4645=<5 
4> <><5=F4 ED454FO64=<O 74<>4 
(4> M5?G>4). �E?< 74<>> 
5?>><D>6>< =5<E?D465=,  
>5D4F<F5EL 6 E5D6<E=O= F5=FD 

�>?5E> =5 EF46<FEO =4 F>D<>7 
<?< =5 5?>><DG5FEO 

�5 =464F DOG47 F>D<>74 =4 
>>?5E5 5?>><D>6>5 

�46<<F5 DOG47 =4 >>?5E5. �E?< 
5?>><D>6>4 F>D<>74 =5<E?D46=4,  
>5D4F<F5EL 6 E5D6<E=O= F5=FD 

�G74 4?O ?>4FO7<64=<O 
?>6>D4G<645FEO 6 ?>E44>G=>< 
<5EF5 

�G74 =5 74D<>E<D>64=4 6<=F>< �4D<>E<DG=F5 6<=F>< 
54D4L>>6>7> F<?4 <?< 6<=F>< 
E=<7G (6 746<E<<>EF< >F 
>D5??5=<O) 

&D4=EDG7<>==4O EF>=>4 
E6>5>4=> >4G45FEO 6 ?>E44>G=>< 
<5EF5 

%F>=>4 >L<5>G=> GEF4=>6?5=4 6 
>F65DEF<5  4G7< 4?O 
?>4FO7<64=<O 

�5D5EF46LF5 EF>=>G 6 >F65DEF<5 
4?O FD4=EDG7<>==>= EF>=>< < 
74>D5?<F5 ??>F=>= ?>E44>>= <?<  
6<=F>< E=<7G (6 746<E<<>EF< >F 
E?>E>54 >D5??5=<O) 

�5E4=<G5E><= ?D<6>4 =5 
>?GE>45F <?< =5 ?>4=<<45F 
E5>F<N ?>64. 

�5?D46<?L=> E>54<=5=O  
M?5<5=FO ?D<6>44 

�D>65DLF5 ?D46<?L=>EFL 
E>54<=5=<O  M?5<5=F>6 ?D<6>44. 
�E?< =5 ?><>7?>,  >5D4F<F5EL 6 
E5D6<E=O= F5=FD 

�=<<4=<5! �E?< ?D54?D<=OFO5 45=EF6<O =5 ?><>74NF GEFD4=<FL =5<E?D46=>EFL, 
>5D4F<F5EL 6 E5D6<E=O= F5=FD. 
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6. &D4=E?>DF<D>6>4 < ED4=5=<5 

�745?<5 4>?6=> ED4=<FLEO 6 E>D>L> ?D>65FD<645<>< EGE>< <5EF5, =5 E?>E>5EF6GNM5< >5D47>64=<N 
>>DD>7<< < ??5E5=<.  
$4EEF>O=<5 >F >F>?<F5?L=OE < =47D564F5?L=OE ?D<5>D>6 4>?6=> 5OFL =5 <5=55 >4=>7> <5FD4. 
&D4=E?>DF<D>6>4 4>?6=4 ?D><76>4<FLEO >DOFO< FD4=E?>DF>< 6E5E 6<4>6 6 E>>F65FEF6<< E ?D46<?4<< 
?5D56>7>>, 45=EF6GNM<<< =4 FD4=E?>DF5 44==>7> 6<44, ?> GE?>6<O< ED4=5=<O 2 ?> ��%& 15150-69, E 
>55E?5G5=<5< ?D54>ED4=5=<O >F <5E4=<G5E><E ?>6D5645=<= < 4F<>ED5D=OE >E44>>6 ?D< ?>7DG7>G=>-

D477DG7>G=OE D45>F4E. 
 

7. �><??5>F ?>EF46><:  
- >D>64FL 3 1 LF.,  
- ?4E?>DF 3 1 LF., 
- ?G?LF G?D46?5=<O 3 1 LF. (F>?L>> 4?O <>45?5= DB-11�), 
- DGG>4 G?D46?5=<O FG4?5F=O< GEFD>=EF6>< 3 1 LF. (F>?L>> 4?O <>45?5= �-45�), 
- DGG>4 7<5D<4=>7> ?D<6>44 3 1 LF. (F>?L>> 4?O <>45?< DB-11�), 
- 5>>>6O5 >7D4645=<O 3 1 ?4D4 * (>?F<O), 
- <77>?>6L5/<7=>6L5 3 1 ?4D4, 
- 4G74 4?O ?>4FO7<64=<O 3 1 LF. * (>?F<O), 
- FD4=EDG7<>==4O EF>=>4 3 1 LF. *(>?F<O), 
- ?D<>D>64F=O= (=4>D>64F=O=) <?< >5545==O= EF>?<> * 1LF. (>?F<O), 
- ?D<>D>64F=4O FG<5>G>4* (>?F<O), 
- <4FD4E* (>?F<O), 
-E<5==>5 55?L5* (>?F<O), 
- ?D>F<6>?D>?56=56O= <4FD4E* (>?F<O). 
- FG4?5F=>5 EG4=>* (>?F<O), 
- 64==>G>4 4?O <OFLO 7>?>6O* (>?F<O). 
*>?F<>=4?L=>, ?>EF46?O5FEO 6 746<E<<>EF< >F ?>65?4=<= 74>47G<>4 < >><??5>F4F<<. 
 

8. &5E=<G5E><5 E4D4>F5D<EF<>< 

�DF<>G? 

�>45?L 

  

$47<5DO 
?>64,    <<

* 

$57G?<D>6>4 E5>F<= ?>64 

&<? 

�OE>F4 
?>64, <<* 

�4EE4, >7** 

%5>F<O E?<=O %5>F<O 5545D �>D>=>6=4O 
E5>F<O 

  

  

�-45� 1990*900 �5E4=<G5E><= �5E4=<G5E><= �5E4=<G5E><= 500 75-118 

DB-11� 1990*900 -?5>FD<G5E><=**** -?5>FD<G5E><=**** -?5>FD<G5E><=**** 500 77-135 

 

�D545?L=4O D45>G4O =47DG7>4 4> 250 >7 *** 

 

* �D545?L=O5 >F>?>=5=<O G>474==OE ?4D4<5FD>6 =5 ?D56OL4NF ± 10%. �?F<>=4?L=> 4>EFG?=4 
D57G?<D>6>4 6OE>FO ?>64 (GF>G=O=F5 ?D< 74>475). 
** �4EE4 <745?<O <>65F 64DL<D>64FLEO 6 746<E<<>EF< >F >><??5>F4F<< < <E?>?=5=<O 

*** �D545?L=4O D45>G4O =47DG7>4 3 MF> 4>?GEF<<4O <4>E<<4?L=4O D4E?D545?5==4O D45>G4O =47DG7>4 =4 
?>65 >D>64F<, 6>?NG4O, 6 F>< G<E?5, <4EEG ?4F<5=F4, <4FD4E4, 4>?>?=<F5?L=>7> >5>DG4>64=<O, 
?D<=44?56=>EF5=, >4?5?L=<F, ?4>5F>6 < F.4. 
**** �> <75564=<5 =56>7<>6=>EF< G?D46?5=<O >D>64FLN 6 E?GG45 >F>?NG5=<O M?5>FD>M=5D7<< 
?D54GE<>FD5=> 4>?>?=<F5?L=>5 >55E?5G5=<5 DG=>F<= ?>4=OF<O < >?GE>4=<O E5>F<= >D>64F< 
(>?F<>=4?L=>). � MF>< E?GG45 G?D46?5=<5 DG=>F<O<< ?>4=OF<O < >?GE>4=<O E5>F<= >EGM5EF6?O5FEO 
<5E4=<G5E>< (6D4M5=<5< DG>>OF>< 7<5D<4=>7> ?D<6>44) 4> 4>EF<65=<O =5>5E>4<<>7> ?>?>65=<O. 
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�4D4=F<O  
�4D4=F<==O= ED>> M>E??G4F4F<< - 12 <5EOF56 E> 4=O ?D>446< ?D< 6O?>?=5=<< FD55>64=<= =4EF>OM57> 
?4E?>DF4; 74 <E>?NG5=<5< 5OEFD><7=4L<64NM<EEO 45F4?5= < ?>6D5645=<=, ?D<G<=U==OE 6E?54EF6<5 
=5=44?564M57> >5D4M5=<O. �?O �4L5= 557>?4E=>EF< < <7 GE?>6<= 674<<>74<5=O5<>EF< 45F4?5=, 
D5<>=F < >5E?G6<64=<5 ?D>4G>F<< <>65F 5OFL ?D><76545= 6 >><?4=<< ��� «�54F5E=<>4 ��%���» 
E ?D<<5=5=<5< F>?L>> >D<7<=4?L=OE 74?G4EF5= < 45F4?5=. �4D4=F<==O= ED>> ED4=5=<O - 36 <5EOF56. 
�D< >5D4M5=<< ?>FD55<F5?O ?> 74D4=F<<, 74D4=F<O =4 74<5=5==O5 45F4?< < G7?O 45=EF6G5F 4> 
>>>=G4=<O >E=>6=>7> ED>>4 74D4=F<< =4 <745?<5. 
�D< >5D4M5=<< 6 %5D6<E=O= &5=FD ��� «�54F5E=<>4 �>E>64» 6 E?GG45 =5<E?D46=>EF<, 4?O 5>?55 
>?5D4F<6=>7> D5L5=<O ?D>5?5<O, E>>5M4=F5 =><5D ?4DF<< <745?<O, G>474==O= =4 >>D>5>5 </<?< =4 
E4<>< <745?<<. 
&5?5D>= %5D6<E=>7> &5=FD4 ��� «�54F5E=<>4 �>E>64»: +7 (495) 5042651 

�4F4 ?D>446<: «______» ____________ 20____ 7.      
 

 

 

 

 

 

 

�>FG4?L=GN <=D>D<4F<N E<>FD<F5 =4 E4=F5 $�%��$�������$�    http://www.roszdravnadzor.ru   
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    ��$/ �$���%&�$����%&� 

" %FD>7> E>5?N44=F5 FD55>64=<O, G>474=<O < D5>><5=44F<<, E>45D64M<5EO 6 =4EF>OM5< �4E?>DF5 
<745?<O 

" �5 >EF46?O=F5 45F5= 557 ?D<E<>FD4 DO4>< E D45>F4NM5=  >D>64FLN. 

" �5D54 <E?>?L7>64=<5< ?D>65DO=F5 >>DD5>F=>EFL DG=>F<>=<D>64=<O 6E5E ?>46<6=OE G4EF5= 
>D>64F<, ?D>65DO=F5 =4456=>EFL 74FO6>< >D5?56=OE M?5<5=F>6 < >FEGFEF6<5 >E?45?5==OE E>54<=5=<=, 
G554<F5EL 6 >FEGFEF6<< 6 ?><5M5=<< ?><5E (<555?L, EF5=O, ?>4>>>==<>< < F.?.), ?D5?OFEF6GNM<E 
=>D<4?L=><G DG=>F<>=<D>64=<N >D>64F< 

" �464O= D47 ?5D54 <E?>?L7>64=<5< =5>5E>4<<> ?D><76>4<FL >E<>FD <745?<O =4 =4?<G<5 
6<4<<OE 45D5>F>6 < ?>6D5645=<=. �D< >5=4DG65=<< ?>6D5645=<=, 6?<ONM<E =4 557>?4E=>EFL 
M>E??G4F4F<< <745?<O, <?< ?D< 6>7=<>=>65=<< ?>EF>D>==<E LG<>6 6 ?D>F5EE5 D45>FO =574<54?<F5?L=> 
?D5>D4F<F5 M>E??G4F4F<N < >5D4F<F5EL 6 E5D6<E=O= F5=FD. 

" �5 ?D56OL4=F5 <4>E<<4?L=> 4>?GEF<<GN =47DG7>G =4 >D>64FL, G>474==GN =4 746>4E>>= 
=4>?5=>5. �4?D5M5=> 6EF464FL < E<45FL =4 >F45?L=> ?>4=OFOE E5>F<OE, >?<D4FLEO =4 F>DF56O5 
>7D4645=<O <?< <=O< >5D47>< ?5D57DG64FL >D>64FL. �>6D5645=<O <745?<O, ?>?GG5==O5 6 D57G?LF4F5 
?D56OL5=<O =47DG7><, =5 O6?ONFEO 74D4=F<==O< E?GG45<. 

" �75574=F5 ?>?444=<O ?>EF>D>==<E ?D54<5F>6 < G4EF5= F5?4 <564G 46<6GM<<<EO M?5<5=F4<< 
>>=EFDG>F<< >D>64F< 6 ?D>F5EE5 M>E??G4F4F<<, MF> <>65F ?D<65EF< > FD46<5 <?< ?>6D5645=<N 
>5>DG4>64=<O 

" �75574=F5 GD57<5D=>7> =4FO65=<O, E?GFO64=<O, ?5D5>DGG<64=<O <?< ?>6D5645=<O (6 F>< G<E?5 3 
46<6GM<<<EO G4EFO<< >D>64F<) M?5>FD<G5E><E ?D>6>4>6 < ?D>6>44 ?G?LF4 G?D46?5=<O (?D< =4?<G<<). 

" �D< =4?<G<< M?5>FD<G5E><E ?D<6>4>6 7<5D<4=>7> F<?4 (E 6>7<>6=>EFLN 6D4M5=<O ?D<6>44 
<5E4=<G5E>>= DG>>OFLN ?D< >FEGFEF6<< M?5>FD>?<F4=<O): ?5D54 =4G4?>< <E?>?L7>64=<O <5E4=<G5E>>= 
DG>>OF< G554<F5EL, GF> >455?L ?<F4=<O >D>64F< >F>?NG5= >F D>75F>< E5F< ?5D5<5==>7> F>>4. 

" &>D<>74 >>?5E EF>OM5= >D>64F< (?D< =4?<G<<) 4>?6=O 5OFL 745?>><D>64=O. $475?>><D>6>4 
>>?5E ?D><76>4<FEO F>?L>> ?D< =5>5E>4<<>EF< ?5D5<5M5=<O >D>64F<. 

" �5 4>?GE>45FEO ?5D5<5M5=<5 >D>64F< ?D< 745?>><D>64==OE >>?UE4E. 

" �5 4>?GE>45FEO  ?5D5<5M5=<5 >D>64F< 6<5EF5 E ?4F<5=F><, MF> <>65F ?D<65EF< > FD46<4<. 

" �5 4>?GE>45FEO ?5D5<5M5=<5 >D>64F< 74 5>>>6O5 >7D4645=<O. 

" �>?5E4 =4 >D>64F< ?D54=47=4G5=O 4?O 5U ?5D546<65=<O =4 >>D>F><5 D4EEF>O=<O ?> F65D4><G 
D>6=><G ?>?G 6=GFD< ?><5M5=<O, 6 >>F>D>< GEF4=>6?5=4 >D>64FL. �5 4>?GE>45FEO <E?>?L7>64=<5 
>D>64F< 6=5 ?><5M5=<=, ?5D5<5M5=<5 ?> 5U 7DG=FG < 4DG7>= =5E>>F65FEF6GNM5= ?>65DE=>EF<. 

" �> <75564=<5 ?>6D5645=<=, <75574=F5 G44D>6 < EF>?>=>65=<= >D>64F< E F65D4O<< ?D54<5F4<< 
?D< 5U ?5D5<5M5=<<. 

" �E?>?L7>64=<5 >D>64F< 6 >4G5EF65 >4F4?><, 4?O ?5D5<5M5=<O <564G ?><5M5=<O<<, ?> 
>>D<4>D4<, ?5D5>4FO64=<5 >D>64F< G5D57 ?D5?OFEF6<O ?>D>6>>6>7> F<?4, 6O5><=O 6 ?>?G < <=O5 
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5>?LL<5 =5D>6=>EF< D4EF5=<645FEO >4> <E?>?L7>64=<5 >D>64F< =5 ?> =47=4G5=<N < <>65F ?>E?G6<FL 
>E=>64=<5< 4?O >F>474 6 74D4=F<==>< D5<>=F5. 

" �4?D5M45FEO D47<5M5=<5 =5 ?D54GE<>FD5==OE >>=EFDG>F<5= ?D54<5F>6 <?< >5>DG4>64=<O =4 
D4<5 >D>64F< <?< 55 <E?>?L7>64=<5 6 >4G5EF65 >?>DO 4?O G5?>65>4. 

" � E?GG45, >>744 =5>5E>4<<> >EF46<FL ?4F<5=F4 557 ?D<E<>FD4, ?>4=<<<F5 5>>>6O5 >7D4645=<O < 
?D<654<F5 ?>?>65=<5 >D>64F< 6 =G?56GN ?>7<F<N: 6E5 E5>F<< ?>64 D4E?>?>65=O 7>D<7>=F4?L=>, ?>65 
>D>64F< >?GM5=> 6 >D4==55 =<6=55 ?>?>65=<5 (?D< =4?<G<< DG=>F<< D57G?<D>6>< 6OE>FO ?>64). 

" �G?LF G?D46?5=<O (?D< =4?<G<<) E?54G5F ?D>F<D4FL E?57>4 6?46=>= E?>?G4F>5G<46=>= F>4=LN, 
?D5464D<F5?L=> >F>?NG<6 >D>64FL >F <EF>G=<>4 ?<F4=<O. �5 ?D>F<D4=F5 ?G?LF G?D46?5=<O 6<4>>EFO<<, 
<<5NM<<< 6 >E=>65 55=7<=, 4F5F>=, D4EF6>D<F5?< </<?< 4DG7<5 47D5EE<6=O5 E>54<=5=<O. 

" �> <75564=<5 ?>6D5645=<O, <75574=F5 ?445=<O ?G?LF4 G?D46?5=<O =4 F65D4GN ?>65DE=>EFL <?< 6 
6>4G. 

" �D< ?>6D5645=<< ?G?LF4 G?D46?5=<O =5 ?OF4=F5EL 74<5=<FL 45F4?< <?< ?>G<=<FL 57> 
E4<>EF>OF5?L=>. �5D4F<F5EL > ?>EF46M<>G <?< >D<F<4?L=><G ?D54EF46<F5?N ?D><76>4<F5?O 6 �4L5< 
D57<>=5 4?O 74<5=O. 

" � ?D>F5EE5 M>E??G4F4F<< >D>64FL E?54G5F E>45D64FL 6 G<EF>F5  

" �E?< <745?<5 ?5D5EF4?> DG=>F<>=<D>64FL </<?< ?5DE>=4? =5 <>65F >EGM5EF6?OFL >>=FD>?L ?D< 
?><>M< ?G?LF4 G?D46?5=<O (?D< =4?<G<<), =574<54?<F5?L=> ?D5>D4F<F5 M>E??G4F4F<N < >5D4F<F5EL 6 
E5D6<E=O= F5=FD 

" 'F<?<7<D>64FL <745?<5 ?>E?5 >>>=G4=<O ED>>4 E?G65O < G?4>>6>G ?>E?5 E5>D>< =5>5E>4<<> 
E>7?4E=> ?D46<?4< < =>D<4<, ?D54GE<>FD5==O< 74>>=>44F5?LEF6>< EFD4=O M>E??G4F4F<<.                                                               


